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XVZ = |XY| + I¥Z

ABCD - 180 Ixm‘
A |ABCE - 170 km |
.

N,
-

FBA - 110 km

FBC - 90 km [6cE 150 km

x<500 = max(x)=?
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(W,A,170.¢,00,0,C,0)={0123456,789)
Q#0

mAYre e >98340
O b8 CO <12567
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87386137 11101100 .

71002531 11101110
67965277 |= [11101100 |
'6A701B98 |= |10111011 |
89124821 > 11111000

A+B=7?

18D 7D21H32P 30 =
0P3P7PIBP32P 18 =
108 100BI1586H9IBD 11
2820138219 10H 71

88P8P23P50P 27 P67
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[ABCCDEFGEHIIUKLMNOOPRSSTULVYZ)

1 2 3 4 5
ABCD | EFGH LKL MNOP | QRST

FUTBOL -~ GOZFUS;
OzLEM ~ OCPOS;

PAPATYA ~ RUSOCFE; AGRD=100 QmMGl=146 EKTC=121
KRONOMETRE I -

OJBS=?
e
L
®c

25, 48)
10, 98)
69, 34)
78, 82)

sWcgs uniland.ir



D3GZD1G1-5
D5B2-3
D3K3B3G3-0
D14K9D5B13G1 =7
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x = 100a + 10b + ¢ = a+2b-5¢c=?
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8 (wp| 7 [wap| 7 jwap 11 jwp 33 wp| 7
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(16,4)10°% + (0,36)10 %
-
(0,0008) (0,064) 3

=?

x,y €L,

xV3+yV3—-9=4x—-5y+36

> Xx—-y=?
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nefd, n=6

(n=5N+(n-6) 1

(n=3=-(n-4) 6

=>4n—3 =7

fiR-R,
f(x)=-x*+12x+6k + 3,

|IBC| = 3|0A] = k=7
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f:R- R,
f(x?+3x —4) = 2x* + 6x
R f:R =R,
=5 f~1(5) =? R f(x) =x* s |12x + 2| — 6
flx1) =f(x) =0

= X+ Xy =7

f:R—1{0,2} = R,

f(x) :'_ = f(x+2)=7?
xX=2

4f(x)+6
f(x)

& 6f(x)—9
f(x)
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ABCE
A =E-A
B'=E-B

n(E) = 50
n(A'nB') =7
3n(lA-B)=5n(B—-A)

j- = min [n(A4)] =?

(n: Element number of the set )

P ve K birer polinomdur. ( P and K are polynomials.)

P(x) [ x? + 4x P(x) | x2 +4

A={x:-150<x < -12,x=3k,kE ]
B={y:=120 <y < =5,y = 4k, k € Z}

= n(A n B) =7 (n: Element number of the set)
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’[H_'h enuz cevaplanmad ﬂ,bEZ’,

f(x)=x—4x+5,

- . ab — 4a + 3b = 42
A=[-2 5) = f(A) =7

= max(a) =?

4 sin*x + 5sin2x — 6cos‘x = =2

tanx =?
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_1j

y =yXx),

= 4(cos160° + isin160°) S a
2(cos40" + isin40") : fxy £I% Jy FRp-1=2 = d—i(m -

= |24 — 25| =2
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1 2 3
7

Y/|m=12..:a, 0, + + =7
loge 72 log; 27 log, 72

lima,=LER

N — 00

2(1”(13" —2= —3”2u
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4
VCOS X — COS X

x—0 sin*x

ABCD kare (square) f.9:R-R,

[BE] n [AF] = [K} o ;
‘ ) ) f (2x) = g(3x) 3
3|ED| = |AD| = 2|DF| - . f(0)=0 f g(5x)dx
f(10) =2 0

tanx =7
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sin®x cos’x dx =?

[{R— R

I
f —arccot x
. ax + x3
(x) = | . '
/ Ubx? +x+ c,

f'1)=7 =a+b+c="?
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ABCDEFGH kup (cube)

|Fl| — l.[—ll |K,| = ';) br
2|AK| = |[KD| = 4 br |

8 ,
"
/-\‘z

ABCD paralelkenar (parallelogram)
ABCD yamuk (trapezoid)

[FE]
[EB] n [AC] = [F) |EF|
|AE| = |ED| AE|
A(AEF) = 4 br’ IEB|
A(BFC) = 10 br*

[AB]
tor |AD| = 7 br
5 br

11 br

Innn-

A(ABCD) = ? br* (Find the area of ABCD)
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A C
-
) B\’ X
k

AOBC dikdortgen (rectangle)
k bir dogru (line)

Dik koordinat sisteminde E(0,3), D(4,2)

(in perpendicular coordinate system); [AD l 1 I”[”

ABC Uggen (triangle)
[BA] 1 [AC]
AE| = |AC|

Tarah alan nedir? (Find the signed area.)

B=(77)

14

ABCD dikdartgen (rectangle)
BECF kare (square)

|AH],’;"[[)(‘ I

|BD| = 8 br
|AB| = 4 br
|AD| = 6 br
|DC| = 16 br

.‘l)(:‘ 14 br min|BC| =7 br
|AE| = 10 br

|BC| =7 br
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jen (triang
24 —‘

[CD] 1 [AB]

=— m(BAC) =
[BE] 1 [AC]

www.atharan.com
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